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For Exercises 3 — 6:

a. Find the slope of the line between the two points
b. Match the slope with the appropriate graph.

3. (1,-2)and (-8,-2) . .
w-;* ‘*Zﬁ* 'if”k"; ‘Qw FAN
amR-Nee e S 2 7)
a -G - g “M N%
¥aw
b Tit

4. (-1,-3)and (1, 5)

5. (-5,0)and (-5,2) ¢z2v,
» o
Lm0 _ =
a. ‘”‘g"{‘”ﬁ%% B -
b o

6. (-3,2)and (4, 1)
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CLASSROOM ACTIVITY 3.2B

1. What are the x- and y-intercepts of a graph?

¥ow @

N S

2. Identify the x- and y-intercepts of the graphs below.

a. x-intercept: -~ 17 ¢

y-intercept:

3
4
tgt -

b. x-intercept: -

y-intercept: " B

PN ;
L VR (7 R U
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CLASSROOM ACTIVITY 3.1B

(U8}

Churchill, Mantioba, is the northernmost port city N 131}1{%?" -
on the Hudson Bay in Canada. Besides its port
facilities, nearby national park, and Eskimo
museum, Churchill is known for having a large
gathering of polar bears. Polar bears gather in the
Churchill River valley, waiting for the waters to
freeze so that they can migrate north and find food
along the frozen streambeds.

The average temperature in Churchill during
January is -27.5° C. The following table shows the
average temperature for a ten-day period in January.
Plot the points on the graph provided.

Dayv Temp. °C Average Daily Temperature (January),
- T-18 7 Churchill, Mantioba

-17.9 20 1
D14 104
-21.5 0 L
224 40%9-1..2.3 4.5 6 7 8 9.10
-32.7 204 2" _— '
-36.4 30 ,
"35 2 A0 * °
-31.0

0 -27.4

Temp. (Celsius)

Day

et [ NO OO [~I OV [N [ I JOI DD [

Based on the graph, on which day does it appear that a cold front began its move through

Churchill?
Auy 3

Based on the graph, between which two consecutive days was the change in temperature
the greatest?
Té o

¥
i i Y
grel O

Based on the graph and the data in the table, between which two consecutive days was
the change in temperature the least?

% Q};d L%
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CLASSROOM ACTIVITY 2.5B

1. The total cost (including tax) of a pair of tennis shoes is $48.65. If the sales tax rate
is 6%, what is the cost of the shoes before tax?

Step 1: Reread the problem | ia

e

Step 2: Let x represent:

Step 3: Write an equation in words:

Step 4: Translate the verbal equation X 7
to an algebraic equation:

,iStep 5. Solve the equation: Xx=H2. 0¥

D e AT
Sam g W Py
5
2 Eo) %
*53 ~%W§{V@ ;
vr =i As - AR j

— A AL AS E
JAx = 0. 00 E
§ i
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CLASSROOM ACTIVITY 24C

1. A manager wants to separate his 24 employees into two teams. One team has six fewer

members than twice the other team. How many employees are in each team?

Step 1: Reread the problem.

> i
o~ AN s 2o aat § »

Step 2: Let x represent: i’h P ge ot e

7
Step 3: Write an equation in words: Lo '
Step 4: Translate the verbal equation
to an algebraic equation:
Step 5: Solve the equation: 9 e m -
PR I
=0
Step 6: Interpret your answer using a complete sentence:
3
Yot /

3 B 3}
{i";ﬂ 9 T A g‘gﬁ PELNGES "é Vg TR
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b2~19-122-4 <5255
zl;*’é2£3-2‘%w
~22-Gatbz= 322462
o 3“52,

T22-3= 3+4z-3
-25 =432
-25 _ 12
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